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Time : 3 Hours Maximum Marks : 100

Note : Answer the questions from both Sections as

per instructions.

Section—A

Note : Answer any two questions from this

Section. 2x20=40

1. (a) Write a first-order linear differential

equation and find out its general solution.
(b) Explain how the Harrod-Domar model can

be represented by differential equations.

2. Describe a Poisson distribution. Give an
example of a problem where you can use the
Poisson distribution.

P.T.O.
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3. A production function is given by y = x12/ 8 x%/ =
where y = output and x,x, are inputs. If price
of output Py =15 and input prices are le =5
and Px2 = 3, then derive the profit maximising

levels of inputs.

4. Bring out the salient features of normal
distribution. What is the need for the standard

normal distribution ?
Section—B
Note : Answer any five questions from this Section.
5x12=60

5. Find the inverse of the following matrix :

1 3 2
A=|3 10 6
2 5 5

6. What is meant by an estimator ? Bring out the

properties of a good estimator.
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The technology matrix for three goods is given

as :

0.2 0.3 0.2
A=104 0.1 0.2
0.1 0.3 0.2

and the final demand vector as :

10
D=|5]|,
6
find out the level of production of the three
goods.
From the following data, obtain the regression
equation :
Y =a +bX
X Y
2 5
4 7
6 9
8 8
10 11

Explain the circumstances under which one-tail
and two-tail tests are carried out. In this

P.T.O.



10.

11.

12.
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context, explain the relevance of level of

significance and degree of freedom.

Discuss how difference equations can be applied
to solve the Cobweb model.

Solve the following linear programming model :
Max. :

y = 45x; + 55x,
subject to :

6x, + 4x, < 120

3x; +10xy <180

% 20; x9g 20.

Write short notes on any two of the following :
(a) Non-sampling error
(b) Interval estimation

(¢) Correlation coefficient
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7. @9 a&gel & foU dohih STYE 3@ YHN T

02 0.3 0.2
A=04 01 02
0.1 0.3 0.2
10
3R sifem =i e (4few) D=| 5 | 71 o=
6
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THIROT [Td hifelT :

X Y
2 5
4 7
6 9
8 8
10 11
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y = 45x; + 55x,

6x; + 4x, <120
3x; +10xy <180

X 20; x9g 20.

12. frefafeq & @ fo=l §7 W wfem feofoar
fafau .
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